[image: image1.png](8 points) 1. Circle all of the acidic o-protons in the following molecules (the ones that can be removed easily with a strong base).
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(6 points) 2. Show the structure of the enolate (cither resonance form) when the following compounds react with the given base.

LDA

)OK/\4’

I KH

(11 points) 3. The following three compounds can be made by an Aldol or Claisen condensation reaction. Clearly show the
aldehydes, ketones or esters used to make them. Hint on the last one: it's an intramolecular aldol
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